(0 @) (rad)

=
<

=
<

a(d cot(d))

105

10

Ratl

iy
TTTT T T

0.95
107

1

2 3
TPlpoT (PCA t%obeamliné[f)

oloa,) (cm)

1.

=
<

O J..U;)_
T X
04 r
| ik AR A AR AR AR AR 000 R
0.95L - . .
10° 1 10 0, .1
TP, (PCA t% beamllnef)
—s=— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__allINODNN
—e— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__all
5
>
=]
=2
o}
010\—1%_ . ......! \ ......! L
I r g :
4 r :
| RREEREERE 0 0 o 0 S a e annan nnne e okkl SERTTETTEILE
0.95L T ; > 5
10™ 1 10 0 .
TPp, (PCA tlo beamline
~ 1
o
-
o
o
5
1074
O 1.0
<
4
1

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

1



	Contents
	Page 1


